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1. Divide the polynomial p(x)=145x° +2x%+1 05 + 2% +5%° +3x by d(x) = x* +2x.
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2. Given the function f(x)=7x"+15x"-12x*-30x—4

a) List all of the possible rational zeros of f{x).
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b) Use synthetic division to find the actual zeros of f{x) and complete the table below.
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3. Use polynomial theorems to make predictions about the zeros of the given
polynomial p(x)=2x*+x*+7x*+5x~1 DO NOT FIND THE ZEROS,

a) Use the Intermediate Value Theorem (IVT) to conclude if possible whether or not the
function p(x) has a zero on the interval [-2,2]. Justify.

(-2)= 9 >0 Since m) 20 and pla) =77 70,

pl2) = 77 2o He ,m /wm,f; Z/%L Lesthol »%&aww(f"
| 4‘1@%’ 7%3{ ] fﬁfw’ % J(Lﬁmf,
wu VA o am /zé?‘

gt o
/I{(C,/ ‘7% /7 e"'/g’ [t”? S et ot gl f",s FE /z

2

jgud?/dﬂ PN 45-2/2']@

5?/{4‘ L& / / .
7,

b) Use x = 5 with a bounds tests to give an upper or lower bound for the zeros of p(x).
Justify.
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¢) Use Descartes’ Rule of Signs to make a prediction about the number of positive real

zeros for P(¥)- Justify.
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